AR THERREFARERD > 2V UPRFRE

125 & g olimg 4254 5 KIRFFEA

EEEE)EY (v H -
AT

TP (R - EF(A) (C3103)

— T F AR EE—

TR 190 A 4h o
i"‘“ F‘ giﬁ_%i&ﬂﬂ"%lgj\iﬂﬁi
) ’:L%i%ﬁ; ’Jﬁi é‘é‘ﬁ(&‘) -9‘ ~ —ﬂ,;;éﬁig gj‘@ )fB %; o

. HiEAs 2047 -




A i N -
#E5(A)

HiE4E o £ 20 42 -

WP R 1383 % 2048 FAES A
. 33+ § sin(2257)+cos(-765") +tan(780") = 2
(A)\3

(B)V2+/3

(C)-V3

(D) —2+3

. %2‘X—2‘<6 ; EI!J"L‘ ;;,J i _?_lz ;; —?i (?
(A)x>5

(B)o<x<4

(C)-1<x<5

(D)0o<x<5

L F X yas &

(A)1.5
(B)1.8
(C)1
(D)2
LR A A BRI AR ER G R ERDS B ¥ H
TEauilE2e Fl s a el B S a ff iR 0
(A)8

(B)4

(C)2

(D)3

. log,(sin45°) +log,64 = ?
13
A)=2
( )2
11
B)==
( )2

(C)5
(D)7



A i N -
#E5(A)

3 2 (X 2458 o n o o V
6. 3% )X 24X g § 2oop 5 oax' > Blns e 92
-1
X

23
(A) =

13
(B)ff
(C)9

(D)24

X+y=>1
7. RKE T EF N ox+y<2 TRDRFRfF L ST HE?
x>0

1
(A)E
(B)1
1
(C)Z
(D)2

2

v

8. %Xa ~bi F #k ¥ %N X +ax+b<0efz 5 —2<x<g v fag—b=2?

,
(a)-7
(B)-3

:
(C)3

(D)3

9. ¥ f(X)=(x—-a)(x—b) & x=1pF % & -] & > Ffat+thb="?
(A)l
(B)2
(C)3
(D)4



- S
@:5‘3(1\)
e — BE > AN B A ik - ;",\(#B )m

10OA~B~C~D~E~F%6 4
EAHCASBS A A - A2 (2 g AR L S0
(A)240
(B)480
(C)600
(D)720

1. f() 5 - Baft ooy f(x)% 1 x-12 x-2c b s & 532 5
EIJ 1L 3.&]%]”]4 ;\ﬁiﬁgﬂgﬁ B ?\ g 9

(A)% - %1
(B)% = %
O)% = %2
D)% = %
123 F - MCi 2 238 2 +y?-2x+6y+1=0 + - 3 ML 423 &

X+4y=0 PI! Pl EREBP PGSR T
(A)FIC# & R LAp > 3t - g

(B)FI C&2 B S LAp & & 2

(O)FIC& & SLL7 4p 2 (40 3)

(D)FICnlfl s % B LY

|l

Ly LT 7 0 L3 12 % *t 8(1,0) > Lo L1 E *> 8(0,1) > @ Ly »
L~ L3i~ La*TREE & 2 2RI T FE5 59

(A)L2¢h17 4234 5 X+y=+/2

(B)Laeh = 425% 5 2X+y=2

v
T
v
~
v
~
v
T

13.F % F 3 2w 88 8L~ Lo~ Ly~ Las B2 Lien™ 4258 5 X+y=1> =

(C)Lash ™ 42 5% 5 X=2y=-2

(D)L2¢h = 4255 5 X+y=~/2+1

14.2 srlog,(x-2)=a » log,(x+3)=b & log, (x* - x* -8x+12) = ?

(A)a%+b
(B)2a+b
(C)a%
(D) 2ab



A i N -
5 (A)
15.3% 3 » B & & 8 ~ S &2 7 81:{3><2”|1Sn3100 ’neN} ;
S,={2x3"|1<n<100 - neN}» g |S US,|= ?
(A)200
(B)199
(C)201
(D)1

R L'y:x+4ﬁ’ SR> EC(-2,2) FHREEL B,
LAl

16.% & + 4 -
Bl T 7] iw —‘F’f
(A)(0,0)
(B)(2,-2)
(C)(-2,2)
(D)(4,-4)

3

EEEFRE O Sr I
G ﬁrﬁﬁgzaﬂﬁii,
SR 0 - B4 BB

1705 £ B2 R mKTHG - 4 =
GIEVRCE - J=SENNCR IE A SR S 3 A
SRR A AT HREDI PR E K G
W3 ehd M m s PRk F DR g
(A) 26°x9*

(B) 263x93x4
(C) 26°x10%%9
(D) 263x93x13

3&1‘&

18.

=

A& ¥ R A fe (normal distribution) > B #7 F

2 "ﬁﬁ v ¥ % RK_68-95-99. 7P 0 W 4
oA R LT A

—o I utoz & o

—20 % ut2cz. B o

(3) ] ¢ 99.7%¢n = u—303 ut3oc 2 B -

X B P % ’%;.%Eﬂ’.gﬁ""rpg“ﬁ\;ﬁ’fu;"‘lésﬁ*ﬁf‘u,&
—‘T—'i’%\ﬁiéssﬁ 1R FELPANEEE BV I N g VA DI A
R - fﬁé«‘iﬁw&h@ A B (R4 hxo B E A G

f(x)): & F68%H I & & F % A65A FI8SA 2 A K as ki
B Z 5104 0 BT 5 R T[% S0 B F L P p o Y

(A) f(x)=2x+10

(B) f(x)=x+20

(C) f(x)=1.2x+9

(D) f(x)=2x-35
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